EMM HIGH EFFICIENCY (EFF1) AC MOTORS

Driving

i)

- e ———

=
£MM

Elektrim Motors & Machinery Pte Ltd

e R R



S e

f i E 1]
il 3 ! i i
it . : i
1 ] B . 3
i F 2
e 3 O red = e DOWE eQ OT ele oto and to 2 energ
- B - - .— -y -
DtIo oD ana opes 0O A d.an ac D
anad 4-poie ee phase A 01O e arrected = anadarag 01O o= =Te
5 ota s osed T3 ooled Q e = 0 oltaqge oto 14010 0 anc
A 0
e rated o ® angae o 0 70
22 .
; &
= w3
L)

e 0 U ® D =1ale[= - ad 4-pole andarad ee phase 0to
gle Deo Co entatio orrespo = = = - atio
Designatio akes place e 0CO O 2 hameplate G

s, 2 I3
i el

The nominal levels of efficiency, to which the individual
rated outputs, pole numbers and classes are allocated,
are contained in the following tables.

<84.2 >=84.2 >=87.6

= <85.7 >=85.7 >=88.6
S <87.0 >=87.0 >=89.5
11 <88.4 >=88.4 >=90.5
15 <89.4 >=89.4 >=91.3
e <90.0 >=90.0 >=92.2
22 =90.5 =90.5 >=92.9
30 <91.4 >=91.4 >=9313
S <92.0 >=92.0 ==95.7
45 <92.5 >=92.5 >=94.0
55 <939 >=93.0 >=94.0
7 <93.6 >=93.6 >=94.6
90 =93.9 >=93.9 >=95.0

:rc% . 1% n%

1.1 <76.2 >=76.2 >=82.8
15 <785 >=78.5 >=84.1
2.2 <81.0 >=81.0 >=85.6
3 <82.6 >82.6 >=86.7
4 <84.2 >=84.2 >=87.6
55 <85.7 >=85.7 >=88.6
7.5 <87.0 >=87.0 >=89.5
11 <88 .4 >=88.4 >=90.5
15 <89.4 >=89.4 >=91.3
18.5 <90.0 >=90.0 >=92.2
22 <90.5 >=90.5 >=92.9
30 <91.4 >=91.4 >=933
37 <92.0 >=92.0 >=93.7
45 <92.5 >=92.5 >=94.0
55 <93.0 >=93.0 >=94.0
75 <93.6 >=93.6 >=94.6
90 <93.9 >=93.9 >=95.0

85

TR

80

7oy 20 I I - |

70 I I [ [ 1

1 10 100

EMM series cast iron motors are totally enclosed fan
cooled, 3 phase, squirrel cage induction motors.

EMM series cast iron motors are manufactured to High
Efficiency (EFF1) and starting torque and are characterized by
outstanding features such as : protection degree in P55,
insulation class F, low noise (test at load), optimized structure
and artistic outline.

Its cooling method is 1C411 and the rated output and
mounting dimensions fully conformed to the standard IEC and
DIN 42673. The EMM series cast iron motors are suitable for
driving various kinds of machines or equipments without
special requirements. They are rated at 400V, 50Hz,
Y-connection for maotors up to 3kw, A-connection for 4kw
and above. The S1 duty operating condition is not more than

40°C ambient temperature and not exceeding 1,000 meters
height above sea level.




Bearing & Lubrication_

Bearing Data Frame DE NDE d D B
EM80 620477 C3 | 620422 C3 | 20 47 14

EM90 620572 C3 | 620572 C3 | 25 52 15

EM100 620622 C3 | 620622 C3 | 30 62 16

B EM112 630622 C3 | 630622 C3 | 30 72 19

EM132 630822 C3 | 630872 C3 | 40 90 23

t EM160 6309 C3 | 6309 C3 45 100 25
C ) EM180 6311 C3 | 6311 C3 55 120 29

] EM200 621203 | esio0s 60 130 31
EM225 6313C3 | 6313 C3 65 140 33

EM250 (Horizontal) 6314C3 | 6314 C3 70 150 35

EM250 (Vertical) 6314 C3 | 7314 70 150 35

a| o t——- EM280-2P (Horizontal) | 6314 C3 | 6314 C3 70 150 35
EM280-2P (Vertical) 6314C3 | 7314 70 150 35

EM280-4-8P (Horizontal) | 6317 C3 | 6317 C3 85 180 41

| EM280-4-8P (Vertical) 6317 C3 | 7317 85 180 41
EM315-2P (Horizontal) | 6316 C3 | 6316 C3 80 170 39

EM315-2P (Vertical) 6316 C3 | 7316 80 170 39

v EM315-4-8P (Horizontal) | N319 6319 C3 95 200 45
EM315-4-8P (Vertical) | N319 7319 95 200 45

EM355-2P (Horizontal) | 6319 C3 | 6319 C3 95 200 45

EM355-2P (Vertical) 6319C3 | 7319 95 200 45

EM355-4-8P (Horizontal) | N322 6322 C3 e | 4 50

EM355-4-8P( Vertical) N322 7322 10 | 240 50

® EMM mators are equipped with bearings from excellent manufacturers.
® |n general the bearings have C3 clearances.
® Motors of frame sizes 80-132 are fitted with life-lubricated bearings.

® Motors of frame sizes 160-355 are fitted with open bearings and regreasing device. Depending on the useful life of grease,
open bearings must be regreased in good time so that the scheduled bearing service life is reached.

S e enth:i:aering er!:lé)rgg;ir\ifﬁg . Regreasing period hours for ) Q;raer:sléyir?f
perating temperatures up to 70°C Beatinghariber
<3600r/min <1800r/min  <3600r/min grams
EM160 6309 C3 6309 C3 6000 12000 18000 12
EM180 6311 C3 6311 C3 4000 11000 16000 15
EM200 6312 C3 63.12 3 3500 8500 13000 20
EM225 6313 C3 6313 C3 3000 6000 9000 22
EM250 6314 3 6_314 3 2000 5000 8000 23
EM280 2P 6314 C3 6314 C3 1200 < - 30
EM280 4-8P 6317 C3 .6317 s - 4000 18000 30
EM315 2P 6316 C3 6316 C3 1200 - - 30
EM315 4-8P N319 6319 C3 = 2000 3000 45
EM355 2P 6319 C3 6319 C3 1200 - - 30
EM3554-8p |  N322 6322 C3 . 1400 2200 60

Notes: 1. Vertical motors should be greased twice as often as horizontal motors.
2. Regreasing time should be reduced if bearing operating temperature is in excess of 70°C_

® EMM reserves right to make changes to this brochure without notice.




Standards and Regulations

Degrees of protection (IEC 60034-5)

Designation First Numeral Second Numeral

Protection against contact and ingress of foreign bodies. Protection Protection against water
against hazardous “Live” parts and moving mechanical parts.

5. Ingress of dust is not totally prevented, but dust shall not interfere 5. Water projected in jets against
with the satisfactory operation of equipment. A probe of Tmm diameter the enclosure form any direction
shall not penetrate the enclosure. will have no harmful effects.

6. No ingress of dust 6. Water projected in power jets

shall have no harmful effects.

IP55 Dust protected Jetting water
IP56 Dust protected Powerful jetting
P65 : Dust tight . Jetting water
IP66 Dust tight Powerful jetting

Mounting Arrangements (IEC 60034-7)

FOOT MTG HORIZ FLANGE MTG FOOT/FLANGE MTG FOOT MTG VERT
B3 T B5 by B35
IM1001 = { IM3001 - { IM2001 e
H80 ~ 355 bl H80 ~ 280 ; e =
B6 _i_
H%1_O?éo Vi ! V15 V5
T IM3011 'T‘T‘"‘ IM2071 IM1011 =
H80 ~ 355 : H&0 ~ 160 HE80 ~ 160
B7 SN ’
IM1061
HEO ~ 160 oA , .
V3 = V36 ; V6
BS A : IM3031 —f-ammq= IM2031 -1 IM1031
IM1071 EE’['ﬁ H80 ~ 160 : H80 ~ 160 : H80 ~ 160
H80 ~ 160 : - e

Connection Diagrams
Three Phase Motors with Cage Rotor

- D

Multi-speed motors in dahlander
connection {tapped winding).

Multi-speed motors with 2
separate windings.

w2 Uz vz w2 U2 V2 W2 U2 V2 W LAELC R L
oV Wil ur] vi| wa B Y f“ 2" 2W P el i [
N O L ‘T’ | i[ ]
[N ll | | L 1 1 1
RIPIE RENNPINE

121 122 L U2 1B 0 R 13

‘ Star connection | }Detta connection Connection to ‘ Low speed i | High speed | | Low speed | I High speed ‘
Star-delta starter

/




SPEED 3000RPM 2-POLE 50HZ

Output Speed Rated Current Efficiency | Power Factor| Tn Ts |Tmax| Is | Moment | Noise |Weight

Type Kw | Hp | ymin | 380V | 400V | 415V | n% Cos Nm | Tn | Tn || J |LwdBA)| kg

A LA | A | 100% 100% kym?

EM80A-2 075/ 1 | 2840 | 17 | 162 | 1.56 | 80.6 083 |254 |22 23|61|00008| 67 |17
EM80B-2 1.1 |15 | 2840 | 2.4 | 228|219 | 829 084 372 |3 [32|8 |o00009| 67 |18
EM905-2 15 |2 | 2840 | 322 | 3.06 | 295 | 842 084 [504 |3 [32]8 [00012] 72 |23
EMIOL-2 22 |3 | 2840 | 459 | 436 | 42 | 857 085 |74 |3 | 328 |o00014| 72 |26
EM100L-2 3 |4 | 2860 | 604 | 573 | 553 | 8638 087 |99 |28|32(8 |00029]| 76 |34
Emzw 4 |55 | 2880 | 7.87 | 748 | 7.21 | 877 088 |1322 [25|32|8 |o00055| 77 |4
.EF.\A13ZSA-2. 55 |75 | 2900 | 107 | 102 | 979 | 888 088 [1811 |22]32|8 |00109| 80 |65
EMassz'-z 75 |10 | 2900 | 145 | 13.7 | 132 | 896 088 |247 220328 |o00126| 8 |72
EM]ééMA-z 11 [ 15 | 2930 | 207 | 196 | 189 | 908 089 [3585 [19]3 |8 [00377| 8 |112
EmizabMB-z 15 [20 | 2930 | 28 | 266 | 256 | 915 089 | 4889 [19|3 |8 |00499 | 8 |122
.E.M160L—2 185| 25 | 2930 | 339 | 323|311 | 920 090 |603 |[19|3 |8 |0055 | 8 |136
EMIBOM-2 |22 |30 | 2940 | 402 | 382 | 368 | 923 090 |[7146 [19]3 |82]0075 | 89 |172
.Emz-oom-z . 30 |40 | 2950 | 545 | 517 | 499 | 930 090 9712 [19|3 |76]0124 | 92 |233
EMZOOLB-.z.. 37 |50 | 2950 | 668 | 63.5 | 612 | 935 090 [11978 [19]3 |76[0139 | 92 |24
.i:E'M225M-2' 45 |60 | 2960 | 81 | 769 | 742 | 938 090 | 1447 [18|25(76]0233 | 92 |32
IIIEIIT\;I:ZSOM-Z 55 | 75 | 2965 | 986 | 93.6 | 903 | 94. 090 | 17685 |18 | 25(82]0312 | 93 |38
.EM28OS~2. 75 | 100 | 2970 | 134 | 127 | 122 | 948 090 | 24116 |17 | 25 (76| 0579 | 94 |525
.-E'IVIIZSQM?Z” { 90 125 | 2970 | 158 150 145 95.2 0.91 28939 [ 1.7 | 25 |76 0.675 94 570
EMS]SS—? 110 | 150 | 2975 | 193 | 183 | 177 | 952 091 | 35251 |16| 2272|118 | 9 |930
EM315M2 | 132 | 180 | 2075 | 231 | 219 | 211 | 955 091 |42302 (16|22 (7218 | 9% |99
IIE-M-.B_TSLA.-Z 160 | 220 | 2975 | 276 | 263 | 253 | 956 092 |51275 [16] 22 |72|208 | 99 | 1090
EMB.?_SL.B.-Z... 200 | 270 | 2975 | 346 | 329 | 317 | 955 092 | 64094 |16 | 2272|238 | 99 | 1120
:EM355M.-;2” | 250 | 340 | 2980 | 430 | 409 | 394 | 96.0 092 | 79983 |16 22 |72]3 103 | 1900
EM.355L!2'” 315 | 430 | 2980 | 542 | 515 | 49 | 96.0 092 | 10079 [16| 22 |72] 35 103 | 2300




SPEED 1500RPM 4-POLE 50HZ

Qutput Speed Rated Current Efficiency | Power Factor|  Tn Ts |Tmax| Is | Moment | Noise |Weight
Type Kw | Hp | omin | 380V | 400V | 415V | n% Cos ¢ Nm | Tn| Tn | In| J [LwdB(A)| ke
A | A | A | 100% | 100% kgm?
EM80A-4 | 0.55 | 0.75| 1390 | 138 | 1.31 | 1.26 | 80.6 075 |378 |24 23|52|00018| 58 |18
EM8OB-4 | 0751 | 1390 | 1.82 | 173 | 167 | 824 076 | 515 |24 23 |60]00021| 58 |19
EMS0S-4 (5% 5 1390 | 259 | 246 | 2.37 83.9 0.77 75 27| 30 |70 0.0023 61 24
.E.IVI90.L"4 15 |2 | 1390 | 339 | 3.22 | 3.11 | 85.1 079 | 1023 |27]30|70]00027| 61 |29
EMI0OLA-4 |22 |3 | 1410 | 477 | 453 | 437 | 865 081 | 148 |25|28|70|00054 | 64 |35
EM100LB-4 | 3 4 1410 | 635 | 6.04 | 5.82 87.5 0.82 20.18 25| 28 | 70| 0.0067 64 39
EMI12M-4 |4 |55 | 1435 | 837 | 7.96 | 7.67 | 885 082 | 2653 |22 28|70|00095| 65 |45
EM13254 |55 |75 | 1440 | 113 | 107 | 103 | 893 083 | 3648 [22] 28 |70[00214| 71 |70
1324 |75 |10 | 1240 |15 | 143 | 138 | 902 084 | 4974 |22 28 |70|00206| 71 |80
EMI60M-4 | 11 |15 | 1460 | 218 | 207 | 200 | 911 084 | 7159 |21 28 |75|00747 | 75 | 123
EMI60L-4 |15 |20 | 1460 291 | 277 | 267 | w20 085 | 9812 |21 28|75|00018| 75 |[135
EM180NI-4 | 185 | 25 1470 | 354 | 336 | 324 923 0.86 12019 | 21| 2.8 | 75| 0.139 76 170
EMISOL4 |22 |30 | 1470 | 419 | 398 | 384 | 928 086 | 14293 |21| 25 |75|0158 | 76 | 184
EM200L4 |30 |40 | 1470 | 568 | 54 |52 | 933 086 | 16098 |2.1| 25 |75|0262 | 79 | 250
EMZZIsS—.Zl 37 50 1475 | 68.9 | 65.4 | 63.1 93.8 0.87 19851 | 18| 23 | 75| 0.406 81 290
EM225M-4 |45 |60 | 1475 | 836 | 79.4 | 766 | 94.0 087 29037 |18 2375|0469 | 91 |326
EM250M-4 |55 |75 | 1480 | 102 | 96.7 | 932 | 944 087 3549 [18| 2375|066 | 8 395
EM2805-4 75 100 | 1480 | 138 131 126 949 0.87 48395 (18| 23 | 75| 1.12 86 515
EM280M-4 |90 | 125 | 1480 | 165 | 157 | 151 | 95.2 087 | 57879 [18| 2375|146 | 8 |61
EM3155-4 | 110 | 150 | 1480 | 199 | 189 | 182 | 955 0.88 | 70741 [17 ] 22 |27 3.1 93 | 931
EM315M-4 | 132 | 180 | 1480 | 238 | 226 | 218 | 956 088 | 84889 [17|22|72]362 | 93 |1017
EM315_LA-.4. 160 | 220 | 1480 | 285 | 271 261 958 0.89 1029 L | 22 | 2 [ 413 97 1085
E.M31SLB-4 200 | 270 | 1480 | 357 | 339 | 327 | 956 089 | 12862 [17| 2272|473 | 97 | 1200
EM355M-4 | 250 | 340 | 1490 | 440 | 418 | 403 | 96.0 090 | 16024 [17| 22|72/ 65 101 | 1700
EM355L-4 | 315 | 430 | 1490 | 554 | 526 | 507 | 96.0 090 |2019 |17]22|72]82 101 | 1900




SPEED 1000RPM 6-POLE 50HZ

Output Speed Rated Current Etficiency | Power Factor| Tn Ts [Tmax| Is | Momeni | Noise |Weight
Type Kw | Hp | omin | 380V | 400V | 415V | n% Cos ¢ Nm | Tn| Tn || J |LwdB(A)| kg
A A A 100% 100% kgm?
EMBOA-6 037 |05 885 128 | 123 | 1.18 62.5 0.70 3.93 191 20 (47| 0.0016 | 52 16
EMB0B-6 0.55 | 0.75 | 885 154 | 146 | 1.41 #5.5 0.72 5.84 190 21 | 47 | D.0019 | 52 20
EMO90S-6 0.75 | 1 910 203|193 | 1.86 77.8 0.72 7.87 25| 25 |55 | 0.0029 | 55 24
EMY0L-6 1.1 115 | 910 286 | 272 | 262 80.0 0.73 11.54 |25/ 2.5 | 55 [ 0.0035 | 55 26
EM100L-6 15 |2 920 22 353 | 3.41 81.7 075 1524 |22 | 25 | 55| 0.0069 | 59 34
EM112M-6 22 |13 935 526 | 5 487 83.6 0.76 2235 |22 | 25 | 55| 0014 63 44
EM1325-6 3 4 960 7.05 | 6.7 6.45 85.1 0.76 2984 | 21| 25 |55|00286 | 67 68
EM132MA-6 | 4 55 960 927 | 88 | 848 86.3 0.76 3979 |21 | 25 (6 0.0357 | 67 74
E_MBZMB-E 55 |1.5 960 124 1 11.8 | 11.3 87.6 0.77 54.71 250 25006 0.0449 | 67 85
EM?SUM-S 75 |10 970 16.6 | 15.8 | 15.2 89.2 0.77 7384 [21 | 25 |6 0.0081 71 135
EM?GOL-é 11 15 970 23.8 226 | 218 S0.2 0.78 1083 |21 ] 25 |65(0.116 71 149
EM180L-6 | 15 20 970 309 | 293 | 282 91.2 0.81 14768 | 21| 25 | 65| 0.207 7 183
| EM200LA-6 | 185 | 25 980 37.8 | 36 34.7 91.7 0.81 18214 | 21| 25 |7 0.315 74 219
EM?._(I)ULB-.{; 22 30 980 437 | 415 | 40 92.2 0.83 2166 | 21| 25 |7 0.36 74 233
EM225M-6 | 30 |40 980 586 | 55.7 | 53.7 92.6 0.84 29235 18| 20 |7 0.547 74 296
EM250M-6 37 50 980 70.1 | 666 | 64.2 932 0.86 36026 | 1.8 | 20 |7 0.843 76 380
EM2805-6 45 | 60 980 84.8 | 806 | 71.7 93.7 0.86 43852 |18 | 20 |7 1:39 78 498
EM280M-6 55 75 980 103 | 98.2 | 94.7 94.0 0.86 53597 [ 1.8 | 20 |7 1.65 78 545
EM3155-6 75 100 | 985 140 | 133 | 128 94.6 0.86 73087 [ 1.8 | 20 |7 4.11 83 915
EM315M-6 90 125 | 985 167 | 159 | 153 95.0 0.86 87259 (18| 2.0 |7 478 83 993
EM315LA-6 | 110 | 150 | 985 204 | 184 | 187 95.2 0.86 10665 | 1.8 | 20 | 7 545 a3 1065
EM315LB-6 | 132 | 180 | 985 241 | 229 | 221 95.5 0.87 12798 | 1.8 | 20 |7 6.12 83 1185
E.M355MA-6 160 | 220 | 990 288 | 274 | 264 95.8 0.88 15434 |18 | 20 |7 95 90 1550
EM355MB-6 | 200 | 270 | 990 363 | 345 | 332 95.4 0.88 19133 |18 | 2.0 |7 10.4 90 1600
EM355L-6 . 250 | 340 | 990 454 | 431 | 416 95.7 0.88 24116 | 18| 20 |7 12.4 90 1700




SPEED 750RPM 8-POLE 50HZ

Output Speed Rated Current Efficiency | Power Factor| Tn Ts |Tmax| Is | Moment | Noise |Weight
Type Kw | Hp | umin | 380V | 400V | 415V | n% Cos Nm | Tn| Tn |In| J |LwdB(A)| kg
A | A | A | 100% 100% kgm?
EMBOA-8 | 0.18|0.25| 645 | 088 | 083 | 0.8 | 512 061 |249 18] 19|33|00025| 52 |17
EM8OB-8 | 0.25|037| 645 | 1.57 | 1.09 | 1.05 | 54.2 061 (346 |18]19(33|0003 | 52 |19
EM90S-8  [037 |05 | 670 | 1.49 | 1.41 | 136 | 622 061 |512 |18] 19 |49|00051 | 56 |24
EMO0L-8 055|075| 670 | 217 | 2.06 | 1.99 | 633 061 |761 |18 4 |00065| 56 |26
| EM100LA-8 | 075 | 1 680 | 231 |22 | 212 | 736 067 [1023 |18|2 |4 |0009 | 59 |33
EMI00LB-8 [1.1 |15 | 680 | 347 | 301 |29 | 765 069 [1500 [18]2 |5 |001 59 |36
EMIT2M-8 |15 |2 690 | 42 |399|385 | 786 069 |2046 |18|2 |5 |00245 | 61 |43
EM1358 |22 |3 705 | 581 | 551 | 532 | 81.1 071 [2959 [18]2 |6 [00314| 64 |68
EMi3aM8 |3 |4 | 705 | 754 | 716 | 691 | 828 073 4035 (182 |6 |00395| 64 |e3
EMIGOMAS |4 |55 | 720 | 9.86 | 937 | 9.03 | 844 073 [5306 |19]2 |6 |00753| 68 |133
EMI60MB-8 |55 |75 | 720 | 131 | 125 |12 | 860 074 7259 |2 |2 |6 |00931| 68 | 155
EMI60L8 |75 [10 | 720 | 174 | 165 | 159 | 73 075 [9950 |2 |2 |6 |0126 | 68 | 160
eMigoLe |11 |15 | 730 | 247 | 235 | 226 | sv0 076 [14390 [2 |2 |6 [0203 | 70 |173
EM200L-8 |15 |20 | 730 | 332|316 | 304 | 902 076 (19623 |2 |2 |66|0399 | 73 | 234
EM22558 | 185 (25 | 730 | 407 | 387 [ 373 | 9038 076 [242.02 |19|2 |66|0491 | 73 |276
EM225M-8 |22 |30 | 730 | 469 | 445 | 429 | 914 078 28781 |19|2 |66|0547 | 73 | 298
EM250M-8 |30 |40 | 735 | 625 | 594 | 572 | 923 079 [38247 |19|2 |66|0834 | 75 |375
EVDSOS8 |37 |50 | 735 | 766 | 728 | 701 | 929 079 48404 (19| 2 |66/ 1.93 76 | 480
EM280M-8 |45 |60 | 735 | 927 |88 | 848 | 934 079 |580.74 [18| 2 |66/ 365 76 | 560
EM3155-8 |55 |75 | 735 | 110 | 104 | 101 | 938 081 |709.80 [18] 2 |66/ 479 82 |915
EM315M-8 |75 | 100 | 735 | 149 | 141 | 136 | 945 081 [96791 [18]2 |66/558 82 | 1040
EM315LA-8 |90 | 125 | 735 | 176 | 167 | 161 | o438 082 |1161.49[18| 2 |66 637 82 | 1083
EM315LB-8 | 110 | 150 | 735 | 214 | 203 | 196 | 95.3 082 [141960|18| 2 |64|723 82 | 1130
EM355MA-8 | 132 | 180 | 740 | 256 | 243 | 235 | 955 082 [169208(18|2 |64/79 90 | 2000
EM355MB-8 | 160 | 220 | 740 | 309 | 294 | 283 | 958 082 [2051.00(18| 2 |64/ 103 90 | 2150
EM335L-8 | 200 | 270 | 740 | 382 | 363 | 350 | 958 083 [256338|18| 2 |64/ 123 90 | 2250
SPEED 600RPM 10-POLE 50HZ
Output Speed Rated Current Efficiency | Power Factor| Tn Ts |Tmax| Is | Moment | Noise |Weight
“Typs Kw | Hp | omin | 380V | 400V | 415V | % Cos ¢ Nm | Tn| Tn || J |[LwdB(A)| kg
A | A | A | 100% 100% kgm?
EM3155-10 |45 |60 | 590 | 996 | 947 | 912 | 915 075 72839 [15| 2 |62/ 523 82 | 900
EMB315M-10 155 |75 | 590 | 121 | 115 | 111 | 920 075 89025 |15| 2 |62 605 82 | 975
_'E'M-315LA-.10 75 | 100| 590 | 162 | 154 | 148 | 925 076 |121398|15| 2 |62 698 82 | 1100
EM3151B-10 | 90 | 125 | 590 | 191 | 181 | 175 | 930 077 |145678 15| 2 [62] 7.21 82 | 1225
EM335MA-10 | 110 | 150 | 500 | 230 | 218 | 211 | 932 078 |176555|13| 2 |60 13.80 | 90 | 1800
_E’M355MB.-1'0' 132 | 180 | 590 | 275 | 261 | 252 | 935 078 |211866| 13| 2 |60 1500 | 90 | 2500
EM355-10 | 160 | 220 | 590 | 333 | 317 | 305 | 935 078 25680713 | 2 |60| 1664 | 90 | 2500




80-132

iM B3 H80-355

Dimensions in mm
Type Pales
A|AM|B|C D|E F| G | H K| AB|AC|AD|HD | L [BB|CA|EA|DAHA| LD | DM
80 (2468 |125]34 [100(50 19|40 |6 |155|80 |10]165[167[143]223 303 |130 [101]40 [19[10|69 | Mexis
90S [2468 |140|36 |100(56 |24(50 |8 |20 |90 [10]180(184[155|250 [335 [130 [110150 | 24|12 [76 | mex1o
9L (2468 [140(36 12556 [24[50 |8 [20 |90 |10|180]184[155 /250 (360 | 155 |110(50 | 24|12 |76 | Max19
100 [2468 |160 |40 [120]63 [28]60 |8 [24 | 100 12| 205|206 180 270 206 [175 | 125 60 | 28|14 |75 | Miox22
112M 24,68 19045 |140(70 |28|60 |8 |24 [112]12]230(220]190(300 [453 [180[ 132060 |28 |15 (82 | mioxaz
1325 2468 |216|55 |140|89 [38[80 [10[33 [132]12]270[259] 210345 [470 [230 | 169 |80 |38 )18 |88 | Mizxes
132M [2468 216 |55 (17889 [38(80 |10(33 [132]12]270|259]210(345 [510 |238 | 16980 |38 18 |88 | Mizos
_ 2 254 |65 [210|108 [42(110]12[37 [160]15]320{315|255 420 [615 [260 | 190 [110 |42 |20 132 | M16x36
o 46,8 |254|65 (210|108 [42(110]12(37 | 160 |15|320(315|255 420 [615 |260 | 190 (110 | 42|20 135 | M16x36
_ 2 25465 | 254108 [42(110] 12|37 |160 | 15|320[315]255 420 [670 |304 |224] 1104222 [132 | M16x36
W0 68 (25|65 28] 108 [42|110] 12|37 160 | 15 [320|315 255 [420 |670 |304 | 224110 4222135 | M16X36
2 279 |70 |241|121 48{110| 14 [42.5| 180 | 15]355|355|280 [455 {700 [311 | 220|110 48|25 | 1385 | M16X36
18O0M. 68 (279170 241|121 48] 110 14 |25 180 | 15 | 355|355 280 [455 740 | 349 | 220 [110 | 48 | 28 | 136.5 | M16X36
180L |468 279 |70 |279(121|48|110{ 14 |42.5]180 | 15| 355|355 280 [455 740 349 | 220|110 |48 | 28 | 1395 | M16x36
2 318 |70 |305| 133 [55(11016(49 |200|19(395(397(305[505 {779 |369 | 241 [110 55|30 | 1495 | M2oxa2
0L 68 (31870 305133 |55 110 16 |49 200 | 19395(397|305 [505 [779 | 369 | 241|110 5530 | 1585 | M20x42
2255 (48 | 356 |75 |286]14960[140 (1853 |225 | 19| 435|445 (335 555 815 | 368 | 241|140 | 60| 28 | 156.5 | M2OXa2
2 356 (75 (311149 |55(110| 16|49 | 22519 |435(445(335 (555 [820 | 304 | 241 [110] 55 | 28 | 154.5 | M20X42
2M 1068 35675 |31 149 [60|120] 18|53 |225 |19 435445 (335555 (845 304 | 241|140 | 60 | 28 | 156.5 | M20X42
2 406 |80 | 349|168 |60(140| 18|53 |250 |24 | 490|485]370|615 [915 |445 [ 263|140 60|30 | 1705 | M20x42
2O 68 |406|80 |349|168 |65 140] 18| 58 250 | 24 | 490 | 485|370 | 615 (915 |445 | 263[140 | 65 | 30 [172.5 | M20x42
2 457 (85 |368|190 |65|140| 18|58 |280 |24 |550(547|410 680 |985 |485 | 283|140 65|35 | 170.5 | M20xaz
2805 168 457 |85 |368|190]75|140|20] 675 280 | 24 | 550|547 410|680 |985 |485 | 283]140] 75 (35 [179 | M2ox42
2 457 |85 [419(190 |65140( 18|58 |280 | 24 | 550|547 |410{680 [1035 | 536 | 283|140 | 65 | 35 [170.5 | M20x42
280M F6s (45785 (19190 |75]140] 20 [675 | 280 24550 (547 (410|680 [1035 | 536 283140 [ 75 [35 [179 | M2oxa2
2 508 | 120|406 | 216 | 65140 | 18|58 | 315 | 28 | 635(620(530 |845 1178 |570 428 | 140 | 65 [45 [211 | m2oxaz
55 T 6810] 508 | 120406 216 | 80| 170| 22 | 71 315 | 28| 635(620(530 (845 [1224 570 [ 428 |170 | 80 [45 [211 | mooxaz
: 2 508 | 120|457 | 216 |65 (140 | 18|58 (315 |28 | 635|620(530 |845 [1288 | 680 [ 487|140 | 65 |45 |211 | M20xaz
M 68.10] 508 | 120]457 [ 216 | 80 170 | 22 | 71 315 | 28 | 635620530 |845 [1334 | 680 487170 [ 80 45 (211 | m2oxa2
. E 508 | 120 | 508|216 | 65 140| 18|58 |315 |28 |635(620(530 845 [1288 [ 630 | 436 | 140 | 65 | 45 [211 | M2oxa2
4,6,8,10 | 508 | 120|508 | 216 |80 170(22 (71 |315 |28 |635]620(530 (845 [1334 630 [436 [170 | 80 |45 [211 | Mooxaz
| |2 610 | 116|560 | 254 | 75140 | 20| 67.5|355 | 28 | 730|698 655 | 1010[1496 | 760 [ 544 [ 140 75 | 52 | 233 | Maoxa2
M 5810|610 | 116|560 | 254 |95 170 | 25 |86 355 | 28 | 730698655 [ 1010]1536 | 760 | 544 [170 [ 95 | 52 [ 234 | M2oxa2
2 610 | 116|630 | 254 | 75| 140 | 20 | 67.5 | 355 | 28 | 730698 | 655 | 1010]1496 | 760 | 474 | 140 | 75 [52 [ 232 | M2oxa2
o 46,810(610 [ 116 (630|254 | 95170 2586 | 355 | 28 | 730(698 | 655 | 1010] 1536 | 760 | 474 [170 | 95 |52 | 234 | M2oxaz

Notes: Frame below 160 is available in aluminum casing with the same mounting dimensions as in cast Iron frame.




LD

@8
el A ; I o "
NE %& 2 1 | S i
=" h
[P PR = Y ol s CA 4 D g
BB i B BB 1
L. L - L E A
80-132 160-355 160-355
IM B35 H80-355
Type Flﬁgge Foles Dimensions in mm :
- A|AA|B|C D E F| G |H|KABAC|/AD|HD| L BB|CA|EADAHA LD [ M N P|R*S|T| DH
80 |FF165|24,68 |125|34 |100\50 |19]40 |6 |155/80 |10{165(167|143|223 (303 |130)101(40 {19(10|71.5 | 4 |165]130|200{0 [12|3.5|M6X16
805 |FF165|24,68 |140(36 (10056 |24|50 |8 |20 |90 |10180|184|155|250 (335 |130(110(50 |24|12|79.5 | 4 |165/130|200| 0 {12]3.5/M8X19
90L |FF165)2468 |140(36 [125]56 24|50 |8 |20 |90 |10[180[ 184155250 |360 |155|110|50 |24[12]79.5 | 4 |165]130|200] 0 [12|3.5|m8x19
100L |FF215]2468 |160(40 |140/63 |28]60 |8 |24 |100|12|205|206(180(270 406 |176|125|60 |28|14(785 | 4 |215[180|250| 0|15[4 |M10X22
112M|FF215] 2,468 [190[45 |140\70 |28(60 |8 |24 [112]12|230|220{190(300 453 |180(132|60 |28|15(865 | 4 |215(180|250( 0 [15[4 |M10X22
1325 |FF265|2,468 |216(55 |140/89 |38[80 1033 [132]12270|259|210(345 |470 |230|169(80 |38]18[92 | 4 |265(230|300| 0 [15[4 |M12x28
132M | FF265 2,468 |216(55 |178|89 (38|80 (10|33 |132{12|270|259(210|345 (510 |238{169|80 |38|18(92 | 4 |265|230|300|0 |15(4 [M12X28
oy TP30012_ [254[65 |210/108|42|110 12/37 |160)15|320/315|2551420 |615 |260)190111042)20]145 | 4 |300/250]350|0 |19]5 |M1X36
FF300[468 |254|65 |210/108|42|110]1237 |160|15|320|315|255|420 |615 |260{190(110|42]|20{146 | 4 [300[250{350| 0[19|5 |M16X36
ol FF300|2 254165 |254|108|42 (1101237 [160(15|320|315|255]420 |670 (304|224|110|42|22|146 | 4 |300|250|350| 0 |19]|5 [M16X36
FF300| 4,68 |254|65 |254/108|42(110( 1237 |160|15|320|315|255]420 [670 |304|224|110(42|22|146 | 4 |300[250{350| 0[19|5 |M16X36
WSOM FF300|2 279170 |241|121)48(110|14)42.5/180|15|355|355/|280455 (700 [311{220(110|48|25[158 | 4 |300{250{350|0 19]5 [M16X36
~ |FF30014,68 |279]70 |241|121)48|110|14|42.5|180|15|355|355|280 1455 740 |311)220|110|48|25|158 | 4 |300{250{350| 0 |19(5 [M16X36
180L |FF300|4,6,8 |279|70 |279|121|48(110|14|42.5180(15|355| 355|280 1455 |740 [349(220(110|48|28|158 | 4 |300|250|350|0|19|5 [M16X36
oo, B0 |318]70 [305[133| 55| 10| 16[49 |200|19|395 397305505 779 |368 24111055 |30|186 | 4 |350)300|400]0 |19|5 |M20X42
FF350(4,68 |318|70 |305|133|55]110| 16|49 |200[19|395|397|305|505 [779 |369|241(110|55|30|186 | 4 |350|300{400| 0 [19]5 |Ma20x42
2255 |FF400(4.8 356|75 |286(149|60|140| 18|53 |225|19|435|445\335(555 (815 |368|241(140/60|28(189 | 8 |400(350{450|0 (19|5 |M20X42
sy |F40012  [356/75 |311]149|55|110|16]49 25| 19]435| 445|335 555 1820 |304]2411110|55)28)189 | 8 |400]350|450/ 0[19]5 |M20X42
|FFA00[468 35675 |311]149]60|140| 18|53 |225|19 |435|445|335|555 (845 |304/241|140|60|28|189 | 8 |400350]450| 0 |19(5 |M20X42
ooy 20012 |406/80 |349]168|60|140118]53 | 250| 24490 485 370|615 |315 | 445263 |140 60|30 116 | 8 |S00]450[550] 0 19[S |M20KA2
FF500(4,6,8 |406(80 |349(168|65(140|18|58 |250|24(490(485|370(615 (915 (445|263 |140|65|30{116 | 8 |500{450(550| 0 [19]5 [M20X42
sags [200|2 |457[85 |368]190| 65]140| 18|58 |280|24|550| 547 410/680 |985 |485 28314065 35(2155) 8 |500|450|550] 0 |19]5 |M20K42
FF500(4,68 |457|85 |368|190|75(140|20|67.5|280|24 | 550|547 410 680 |985 |485|283|140(75|35|215.5) § |500|450{550| 0 |19|5 |M20X42
2900 FF500 (2 457 (85 1419|190|65{140| 18|58 |280|24|550|547 |410|680 (1035536283 |140(65(35(215.5| 8 |500{450|550| 0 (19|15 |M20X42
FFS00[468 |457[85 |419]190| 75|140|20|67.5|280| 24| 550| 547 |410|680 |1035 536|283 [140|75| 35|215.5| 8 |500/450|550| 0 |19(5 |M20X42
3y5c |TFO00|2 |508120 406|216 |65|140| 18|58 |315|28|635|620|530|845 |1178|570|428 140 65|45|257 | 8 |600|550660| 0 |24]6 |M20KA2
| FF600|4,6,8,101508(120|406|216(80 [170| 22|71 |315]28|635/620(530(845 |1224|570|428 (170(80|45(257 | 8 |600{550|660| 0 24(6 |M20X42
syey 0002 |S08]120]457|216] 65140 18[58 |315|28|635|620|530845 |1288)680|487 14065 |45|257 | 8 |600550660| 0 |24]6 |M20X42
FF600 |4,6,8,10508(120(457|216| 80 (170 22|71 |315|28|635|620|530(845 |1334|680|487|170(80(45 257 | & [600|550|660| 0 |24|6 |M20X42
315 FF600 | 2 508 (1205081216 65 140| 18|58 [315|28|635|620(530(845 |1288|680|436 (140|65(45]257 | & [600(550|660| 0 (24|6 |M20X42
FF600|4,6,8,10|508[120{508 216 80| 170{ 22| 71 [315]28|635|620{530|845 |1334|680|436(170|80|45(257 | 8 |600|550|660| 0 [24]6 |M20X42
3550 FF740 |2 610|116(560|254|75|140|20|67.5|355(28|730|698|655|1010|1496(760(544 (140|75|52(284 | 8 |740|680|800| 0 |24|6 |M20X42
FF740|4,68,10|610{ 116|560 254 95|170| 25|86 |355|28|730|698|655|1010|1536|760|544|170 95| 52|284 | 8 |740(680|800| 0 |24|6 |M20X42
30 |70 [610]116)630)254) 75 140) 20| 67.5| 35| 28 730) 698655 1010|1496 760|474 140 7552|284 | 8 1740|680 800] 0 |24]6 |20%42
FF740|4,6,8,10/610|116630]254] 95(170| 25|86 |355|28|730| 698|655 |1010{1536] 760 474|170 95| 52(284 | 8 |740680]800( 0 [24(6 |M20X42

Nates: R is the distance from the flange mounting-plane to the shaft-extension shoulder.




2

meﬁn ing and Overall Dimensions - EFF1

80-132 160-355 80-132 160-355

IM B5 H80-355

Dimensions in mm
Type | Flange | pgjeg -
No D| E|F| G M | N P |S|T hﬁ[‘gf AC | HD L |EA|DA| LD |LA| DH
80 FF165 |2,4,6,8 19 | 40 1551165 | 130200 |12 |35| 4 |167|243 |303 |40 |19 715 [12| M6X16

6

90s FF165 | 2468 | 24 |50 |8 |20 |165| 130|200 |12 |35| 4 |184|250 (335 |50 |24|795 |12 |M8X19
90L FF165 | 2,468 |24 |50 |8 |20 |165| 130|200 (12|35 4 [184|250 |360 |50 |24|795 |12|M8X19
100L FF215 12468 | 28 |60 [8 |24 |215| 180|250 |15 |4 4 12061270 |406 |60 |28|785 |13 | M10X22
12M | FF215 | 2468 |28 |60 |8 |24 |215| 180|250 |15 |4 4 | 2201300 |453 |60 |28|86.5 | 14| M10X22
1325 FF265 | 2,468 | 38 |80 [10 |33 |265| 230|300 |15 |4 4 1259345 470 |80 |38|92 14 | M12X28
132M | FF265 | 24,68 |38 |80 |10 |33 |265| 230|300 |15 |4 4 12591345 |510 |80 (38|92 14 | M12X28
160M | FF300 (2,468 |42 |110 |12 |37 |300| 250|350 |19 |5 4 (315]420 (615 |110|42| 146 |15]| M16X36
160L FF300 | 24,68 |42 | 110 |12 |37 |300| 250|350 |19 |5 4 (315]420 (670 |110|42| 146 |[15|M16X36
180M | FF300 |2,468 |48 (110 |14 [425|300 | 250|350 (19 |5 4 |355(455 (700 |110|48|158 [15|M16X36
180L FF300 | 24,68 |48 | 110 |14 | 425|300 | 250|350 | 19 |5 4 |355(455 |740 |110)|48|158 | 15| M16X36
200L FF350 | 24,68 |55 | 110 |16 (49 |350 | 300|400 |19 |5 4 397|505 (779 |110|55]186 |17 |M20X42
2255 FF400 |48 60 (140 | 18 [ 53 | 400 | 350|450 |19 |5 8 |4451555 |815 |140|60| 189 |20 | M20X42
FF400 | 2 55 (110 (16 |49 (400 | 350|450 |19 |5 8 | 445|555 |820 |110|55|189 |20|M20X42

. FF400 [ 4,68 60 | 140 | 18 | 53 | 400 | 350 | 450 [19 |5 8 | 445|555 |845 |140|60| 189 |20|M20X42
FF500 | 2 60 | 140 | 18 | 53 | 500 [ 450 | 550 | 19 |5 8 | 485|615 |915 |[140 (60| 116 |22 | M20X42

= FF500 (46,8 65 (140 | 18 | 58 | 500 | 450|550 |19 |5 8 |485|615 |915 | 140 (65| 116 |22 | M20X42
o FF500 | 2 65 | 140 | 18 | 58 | 500 | 450 | 550 | 19 |5 & |547 680 (985 |140| 65| 215522 | M20X42
FF500 | 4,68 75 | 140 [ 20 | 67.5| 500 | 450 | 550 [ 19 |5 8 | 547|680 |985 |140 (75| 215522 | M20X42

0 FF500 | 2 65 | 140 | 18 | 58 | 500 | 450|550 | 19 |5 8 | 547|680 |[1035|140| 65| 215522 | M20X42
FF500 | 46,8 751140 | 20 | 67.5 | 500 | 450 | 550 [ 19 |5 8 547|680 (1035|140 | 75| 215522 | M20X42

FFe00 | 2 65 | 140 | 18 | 58 | 600 | 550 | 660 | 24 |6 8 | 620|845 1178|140 | 65| 257 |22 | M20X42

- FF600 | 4,6,810 | 80 | 170 | 22 | 71 | 600 | 550 | 660 | 24 | 6 8 | 620|845 (1224|170 |80 | 257 |22 | M20X42
- FF600 | 2 65 | 140 | 18 | 58 | 600 | 550 | 660 | 24 |6 & | 620|845 |1288|140|65| 257 |22 | M20X42
FF600 | 46,810 | 80 | 170 | 22 | 71 | 600 | 550 | 660 | 24 | 6 8 | 620|845 (1334|170 |80| 257 |22|M20X42

FF600 | 2 65 | 140 [ 18 | 58 | 600 | 550 | 660 | 24 |6 8 | 620 845 |1288|140 | 65| 257 |22 | M20X42

- FF600 | 4,6,8,10 | 80 | 170 [ 22 | 71 | 600 | 550 | 660 |24 |6 8 | 620|845 1334|170 | 80| 257 |22 | M20X42
_ FF740 | 2 75| 140 | 20 | 67.5| 740 | 680 | 800 | 24 | 6 8 | 698 1010|1496 | 140 | 75| 284 | 25 | M20X42
. FF740 | 46,810 | 95 | 170 [ 25 |86 | 740 | 680 | 800 |24 |6 8 | 69810101536 |170 | 95| 284 | 25| M20X42
. FF740 |2 75 1140 | 20 | 67.5| 740 | 680 | 800 | 24 |6 8 | 698 1010|1496 | 140 | 75| 284 | 25| M20X42
= FF740 146,810 |95 | 170 | 25 |86 | 740 | 680 | 800 | 24 |6 8 | 698 |1010 (1536|170 | 95| 284 |25| M20X42




Elektrim Motors & Machinery Pte Lo

(Singapore)

80 Joo Kaen Circle, Singapore 629100

Tel: (65) 6863 9500

Fax: (65) 6863 3778

E-mail: elektrim@singnet.com.sg
enquiry@emm-maotors.com

Website: www.elekirim-emm.com

GST Reg. No. : M2-0066520-1

Elektrim Motors & Machinery Son Bhd
(Malaysia)

NO. 23, Jalan Bulan U5/170, Seksyen U5,

Bandar Pinggiran Subang, 40150 Shah Alam,

Selangor Darul Ehsan, Malaysia

Tel: (603) 7847 6635 / 7847 6629 / 7847 6919

Fax: (603) 7847 1017

E-mail; elektrim@tm.net.my

Wehsite: www.emm-motors.com
Co. No. : 511496-M




	HE 01
	HE 02
	HE 03
	HE 04
	HE 05
	HE 06
	HE 07
	HE 08
	HE 09
	HE 10
	HE 11
	HE 12

